CLASS : 12th (Sr. Secondary) Code No. 5609
Series : SS-April/2021
Roll No. SET : A

IS ST
BUSINESS STUDIES
AT -1
PART -1
(st Te)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 80 (AF-1 : 40, AFH-II : 40)
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ge-o & AF & Rl R A (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 @ fRar o qur qE-1 % e ol @ uw €2 @ Wy A Sen srafg wher s
BN & % geT qd qdemel St M-I S ge-ue Rar smem

-1 % 999-0F & F 14 0¥ @ 9FHI & 99-T1 § FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 14 and of Part-II are 40.

o FUF FT B A 5 G B 5 J9T-97 § R T8 4 T F97 14 &)

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 14 questions.

5609/(Set : A/ | P.T.O.




(2) 5609/(Set : A)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hH T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & g7 FRa &
All questions are compulsory.
(i) HEOF T B OfF 3G% TET @ T 8
Marks of each question are indicated against it.

(iii) o7 F@ 1 & 10 7% Iy FTIT F97 81 JA% F97 2 S % &

Question Nos. 1 to 10 are Very Short Answer Type Questions. Each question
carries 2 marks.

5609/(Set : A)/ |



(3) 5609/(Set : A)
(iv) 597 @& 11 OF 12 T Fa09 597 &1 99% J97 4 37 & &1

Question Nos. 11 and 12 are Short Answer Type Questions. Each question
carries 4 marks.

(v) o7 GE 13 TG 14 &9 Fa0T F97 & 9% F97 6 STH F & T §7H ARE g
FyTH &1

Question Nos. 13 and 14 are Long Answer Type Questions. Each question
carries 6 marks. Internal choice is available in these questions.

[ @y IO 999 ]
[ Very Short Answer Type Questions ]

1. fquoe @ & il & ol ol |t feeeer dim) 2
Explain in brief any two elements of Marketing Mix.

2. fquoe qur fospg 9 18 & o fafm 2
Write any two differences between Marketing and Selling.

3. ‘Maw geet fofy @ s wfgr fewel fdfw 2
Write a short note on 'Investment Decision'.

4. focia RS @ &1 i & 7 2
What is meant by Financial Planning ?

5. ‘gde T UL 317 36D 96 H F gF % S 2
"Management as a profession." Give any one argument in its favour.

6. USY % His & A H AU HiT 2
Explain any two functions of Management.

7. eI & FRdl @ oAl Bl HET § Ay 2
Briefly state any two elements of 'Directing'.

8. IREROT & FE @ FeT TR 2
State any two importance of Motivation.

9. feEm @ FE & €A wEEy 2

Discuss any two limitations of Control.

5609/(Set : A/ | P.T.O.



10.

11.

12.

13.

14.

(4) 5609/(Set
“9=1T T HdeAIS HE B1”7 HSE

"Controlling is a pervasive function." Explain.

[ @Y ST 997 ]
[ Short Answer Type Questions ]

e @ ufthar & fAEl gre T=eN @ aui it

Explain any four steps in planning process.

AR & Bl e awdl H G o i)

Explain in brief any four elements of Delegation.

[ €Y ST 99 ]

[ Long Answer Type Questions ]

T & STl P Hewd 989 H g9EEl

Explain briefly the importance of Management Principles.

YqT
OR

BT WA & el &Y Tl bl e i

Explain any four principles of Henry Fayol.

HHER T TR & bl & TR & aui iy

Explain any six steps involved in the process of selection of Employees.

3TeE
OR

Wil & fhel & 9T Eidl ey H e i

Explain in brief any six external sources of Recruitment.

5609/(Set : A)/ |

: A)



CLASS : 12th (Sr. Secondary) Code No. 5609
Series : SS-April/2021

Roll No. SET : A
AGAD ST

BUSINESS STUDIES
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd ol A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT AT F T [ I % FG JoT-97 § FRT 7T 16 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
T § g 4 @ w@hwre Tl A awam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 IErt &

All questions are compulsory.

5609/(Set : A)/ I P.T.O.



(2) 5609/(Set : A)
(i) 797 FF%F 1 @ 40 G%F JEGTC Jo7 81 F9F FoT 1 G FH 8 FE I G
gee-giaar 4l

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

1. T TF ............ AT B 1
(A) 3 (B) oA
(©) g% (D) amfes
Management is a ............ force.
(A) Visible (B) Invisible
(C) Separate (D) Collective
2. yEe s e R (@&l 7)1
Management is an inexact science. (True/ False)
3. T 1
(A) TH R
(B) T Sk
(C) TH WU
(D) 7 § Hi§ &

Management is :
(A) An Activity
(B) A Process

(C) A Tradition

(D) None of these

5609/(Set : A)/ 1l



(3) 5609/(Set : A)

4. UFEH T & Q- S a9 © 7 1
(A) o HMHo
(B) THo HHo
(C) THo dlo To
(D) ™ § ®iE T
Which degree is required to become a manager ?
(A) B. Com.
(B) M. Com.
(C) M.B.A.

(D) None of these

5. g &g TR A ... T B 1
(A) 5 (B) &
© T (D) =g
Staffing is the ............ stage of the management process.
(A) First (B) Second
(C) Third (D) Fourth
6. TRIMEET kAT B I HT & T HH H A ... i B =iy 1
(A) T B) &
(©) o= (D) =R
At least ........... people is/peoples are required to complete communication
process.
(A) One (B) Two
(C) Three (D) Four

5609/(Set : A)/ I P.T.O.



(4) 5609/(Set :
7. 9 H Q -9 U B HE TE D 7

(A) RS (B) fwgferienter

(©) e (D) T & g T
Which of the following is not a function of management ?
(A) Planning (B) Staffing

(C) Co-operating (D) None of these

8. fa-Fmir fraes e & ?
(A) 7w ydER B
(B) WA &R USEH
(C) = WX Jeeh &l
(D) Sqer @l
Policy formation is the function of :
(A) Lower level managers
(B) Middle level managers
(C) Top level managers

(D) All of the above

9. Jsi+h JeY & fudm i B ?

(A) SIS o X
(B) B B

(C) Tho T=o T
(D) & § PI§ T

Who is father of Scientific Management ?
(A) George R. Terry

(B) Henry Fayol

(C) F.W. Taylor

(D) None of these

5609/(Set : A)/ 1l



(5) 5609/(Set : A)

10. 3sh Yee -1 qRadH o & ? 1
(A) B qRExE
(B) SRS UREdH
(C) e gRadH
(D) A TRE
What changes does scientific management bring ?
(A) Fashion change
(B) Production change
(C) Economic change

(D) Mental change

11. B0 %4 o1, O ¢ 1
(A)  THISEH ASH
(B) T R
(C) @R
(D) S SR
Henry Fayol was a :
(A) Social Scientist
(B) Mining Engineer
(C) Accountant

(D) Production Engineer

5609/(Set : A)/ I P.T.O.



12.

13.

14.

(6) 5609/(Set

Tho =go T Y

() FR R

(B) @IS Asfiieh

(C) HebiveheT FofifraX

(D) & SR

F. W. Taylor was :

(A) Computer Engineer
(B) Social Scientist

(C) Mechanical Engineer

(D) Mining Engineer

= & @ H-a1 Ao & UeR 7@ R ?

(A) s B) Frm

(C) W= (D) el
Which of the following is not the type of Planning ?

(A) Programme (B) Rule

(C) Product (D) Procedure
R R T

(A) eyt (B) &

(C) 3& (D) ST & | &5 ol
Planning is ............. .

(A) Flexible (B) Permanent
(C) Rigid (D) None of these

5609/(Set : A)/ 1l

: A)



(7) 5609/(Set : A)

15. 1s0rrrs0r00ss, T9E BT HAUR & B 1
(A)  €TeH (B) fE=or
(C) e (D) T & FE T
1939393939539353, 1S the primary function of management.
(A) Organizing (B) Control
(C) Planning (D) None of these
16. AT 96 &l .......... 4 Bl 1
(A) muH (B) fadi=
© T (D) =g
Planning is the .......... function of management.
(A) First (B) Second
(C) Third (D) Fourth
17. EH wh ofek @ 1
(A) R
B) R
(©) arfd®
(D) & & g T

Planning is a process :
(A) Periodical

(B) Continuous

(C) Annual

(D) None of these

5609/(Set : A)/ I P.T.O.



(8) 5609/(Set : A)

18. [N T% AH® THM (el ) 1
Planning is a mental exercise. (True/ False)
19. TS HLE & fha T greq § 7 1
(&) [ (B)
(C) IR (D) s MivEa d@emr &
How many types of organization structure ?
(A) Two (B) Three
(C) Four (D) Number not fixed
20. T TR 69 @6 o F B © ¢ 1
() ST (B) SHIT=IRE
(©) (A) T (B) I (D) & & B Tl
Group norms are part in which of the following ?
(A) Formal (B) Informal
(C) Both (A) & (B) (D) None of these
21. HH-A1 G URad & g e @ ? 1
() o=
(B) SIT=®
(© (&) w (B) I
(D) & & g T

Which organization opposes/resists change ?
(A) Formal

(B) Informal

(C) Both (A) & (B)

(D) None of these

5609/(Set : A)/ 1l



(9) 5609/(Set : A)

22. T 39 IMHR & o1 Tefieedt @ e Fear & : 1

23.

(A) FEET rAE

(B) T

(C) u&g 1 fa&X

(D) W

The number of subordinates under a higher officer is called :
(A) Office Environment

(B) Tight Control

(C) Span of Management

(D) Scalar Chain

Fr=t & | ®H-91 ARG H qeT 78 8 7 1
(A)  IRETAT

(B) tfEEpR

(C) ST=RS T

(D) SIS

Which of the following is not an element of delegation ?

(A) Accountability

(B) Authority

(C) Informal Organization

(D) Responsibility

5609/(Set : A)/ I P.T.O.



(10) 5609/(Set : A)

24. fa@=RHor 718 ? ’
(A) AR FH TR &Y
(B) WM % e &9
(C) ARMY & Heg &Y
(D) & & K Tl
What is Decentralization ?
(A) Narrow form of delegation
(B) Wide form of delegation
(C) Moderate form of delegation

(D) None of these

25. e & afa 7@ & ¢ 1
(A) =TI
(B) HfarEroT
(C) e
(D) &I
Which of the following is not included in staffing ?
(A) Selection
(B) Training
(C) Direction
(D) Promotion

5609/(Set : A)/ 1l



(11)

26. = § § FYRRIHOT & 0@ -1 & 7
(A)
(B) =3I
(C) HfarEroT
(D) SYer @l
Which is the element of staffing ?
(A) Recruitment
(B) Selection
(C) Training

(D) Above all

27, TH TH oo, st 51 (@rel & 9T

28. THIASIG GUETSt H S B
(A) B qden
(B) wgfr qdiem
(C) gf&mr udiem
(D) IUAFT Gl
Psychological tests include :
(A) Interest test
(B) Aptitude test
(C) Intelligent test

(D) All of the above

5609/(Set : A)/ I

5609/(Set : A)

1
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(12) 5609/(Set

29. /=1 & ¥ FRIN #1 a F=-a1 B 7

(A)
(B)
(C)

(D)

SEERICIES |
SRR

(A) T (B) &
SUCE]

Which of the following is an element of Direction ?

(A)
(B)
(C)

(D)

30. ......

Communication
Motivation
Both (A) & (B)

Organization

T A FIE T

....... is an example of monetary incentive.

Bonus
Status
Job-Security

None of these

5609/(Set : A)/ 1l

: A)



32.

33.

(13) 5609/(Set : A)

Fret & | G & WeEd HiE-91 6 1
(A) i

(B) A

(€) fofea ud M

(D) Sfo=IRe

Which is the media of communication ?

(A) Written

(B) Verbal

(C) Written and Verbal

(D) Formal

Fr=t & & i9-a1 TIwer gk & qa 78 © ¢ 1
(A) HEEH

(B) ST Uikl

(C) &Huw

(D) HesmErE

Which of the following is not an element of Communication Process ?

(A) Media

(B) Receiver

(C) Communication

(D) Decoding

5609/(Set : A)/ I P.T.O.



(14) 5609/(Set : A)

34, .o, IFHIEH IO H I o 1
(A) 9
(B) &R HU=TC
(C) Far guam
(D) ST |l

............... is an example of non-monetary incentive.
(A) Status

(B) Job Enrichment

(C) Job Security

(D) All of the above

35. 79 ¥ 9@ feh® SR H IEMEXT B & 7 1
(A) TR
(B) HHeRi
(C) =%
(D) & & K Tl
Which of the following is an example of durable product ?
(A) Furniture
(B) Candle
(C) Salt
(D) None of these

5609/(Set : A)/ 1l



(15) 5609/(Set : A)

36. ‘sTaY fr= & | frwe SEE & ? 1
(A) SiS
(B) g -
(C) SR
(D) ST |l
'Dunlop' is an example of which of the following ?
(A) Brand
(B) Brand Name
(C) Branding

(D) All of the above

37. ‘Qfe hiw g P § § g SeET & 7 1
(A)  uREET YT
(B) et YBfHT
(C) faciiaes YafstT
(D) SWF |l
'Shaving cream tube' is an example of which of the following ?
(A) Transportation packaging
(B) Primary packaging
(C) Secondary packaging
(D) All of the above

5609/(Set : A)/ I P.T.O.



(16) 5609/(Set : A)

38. oo, frqor ferameem, SuseRT T W AR A ' (@rd & 9RT) 1

.............. concept of marketing, emphasis on Consumer Welfare.

(Fill in the blank)

39. = TRl T AR AR B AT B L. FEd 1
(A) I8 FEfA I
(B) & Frs it
(C) = gl
(D) ST HIg TE
Difference between the current assets and current liabilities is called ..............
(A) Net working capital
(B) Gross working capital
(C) Fixed capital

(D) None of the above

40. CPM & QU &9 fdiau| 1

Write full form of CPM.

5609/(Set : A)/ 1l



CLASS : 12th (Sr. Secondary) Code No. 5609
Series : SS-April/2021
Roll No. SET : B

IS ST
BUSINESS STUDIES
AT -1
PART -1
(st Te)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 80 (AF-1 : 40, AFH-II : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-o & AF & Rl R A (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 @ fRar o qur qE-1 % e ol @ uw €2 @ Wy A Sen srafg wher s
BN & % geT qd qdemel St M-I S ge-ue Rar smem

-1 % 999-0F & F 14 0¥ @ 9FHI & 99-T1 § FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 14 and of Part-II are 40.

o FUF FT B A 5 G B 5 J9T-97 § R T8 4 T F97 14 &)

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 14 questions.

5609/(Set : B)/ | P.T.O.




(2) 5609/(Set : B)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hH T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & g7 FRa &
All questions are compulsory.
(i) HEOF T B OfF 3G% TET @ T 8
Marks of each question are indicated against it.

(iii) o7 F@ 1 & 10 7% Iy FTIT F97 81 JA% F97 2 S % &

Question Nos. 1 to 10 are Very Short Answer Type Questions. Each question
carries 2 marks.

5609/(Set : B)/ |



(3) 5609/(Set : B)
(iv) 597 @& 11 OF 12 T Fa09 597 &1 99% J97 4 37 & &1

Question Nos. 11 and 12 are Short Answer Type Questions. Each question
carries 4 marks.

(v) o7 GE 13 TG 14 &9 Fa0T F97 & 9% F97 6 STH F & T §7H ARE g
FyTH &1

Question Nos. 13 and 14 are Long Answer Type Questions. Each question
carries 6 marks. Internal choice is available in these questions.

[ @y IO 999 ]
[ Very Short Answer Type Questions ]

1. f¥pRen & 8 & 7o SR 2
State any two importance of Motivation.

2. feEmr @ F & €M EEEy 2
Discuss any two limitations of Control.

3. ‘PR oF G9ATE B 17 THERY 2
"Controlling is a pervasive function." Explain.

4. fqUue e & el @ dwal & iR faeer it 2
Explain in brief any two elements of Marketing Mix.

5. fauue qur foep 4 18 & = o 2
Write any two differences between Marketing and Selling.

6. ‘FMay GEel Mo W o | fewel i 2
Write a short note on 'Investment Decision'.

7. g FEeE @ R ot B 7 2
What is meant by Financial Planning ?

8. ‘Udy uH YA 317 TD W H s §F O AW 2
"Management as a profession." Give any one argument in its favour.

9. Uy % His & B H o Hi 2

Explain any two functions of Management.

5609/(Set : B)/ | P.T.O.



10.

11.

12.

13.

14.

(4) 5609/(Set :

TR & fhel g ol # 98y § IaEy

Briefly state any two elements of 'Directing'.

[ @Y ST 997 ]
[ Short Answer Type Questions ]

AR & Bl e awdl H GRrg o i)

Explain in brief any four elements of Delegation.

e @ ufthar & fFEl gre T=eN @ aui it

Explain any four steps in planning process.

[ € ST 99 ]

[ Long Answer Type Questions ]

FHAR T Ul & fbel & TN & o Pty

Explain any six steps involved in the process of selection of Employees.

YqT
OR

Wit @ el & ST Wil B §EY H e i

Explain in brief any six external sources of Recruitment.

TS & ST # e 989 § 99EmEy)

Explain briefly the importance of Management Principles.

3TeE
OR

T AT & el v sl & avie i

Explain any four principles of Henry Fayol.

5609/(Set : B)/ |

B)



CLASS : 12th (Sr. Secondary) Code No. 5609
Series : SS-April/2021

Roll No. SET : B
AGAD ST

BUSINESS STUDIES
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd ol A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT AT F T [ I % FG JoT-97 § FRT 7T 16 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
T § g 4 @ w@hwre Tl A awam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 IErt &

All questions are compulsory.

5609/(Set : B)/ I P.T.O.



(2) 5609/(Set : B)
(i) 97 FF%F 1 @ 40 GF JEGTT Jo7 81 F9F FT 1 G FH 81 FE IAC G
gee-giaar 4l

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

1. T% Yo% Sevdl @l o A< AT el & 7 1
(A) T & (B) gHEgelr &
(C) FHATAT TaH THEYer & (D) SR § q i el

How does a manager want to achieve his objectives ?

(A) Efficiently (B) Effectively
(C) Efficiently and Effectively (D) None of the above
2. FEHES Hed § STgEaH H e = 7 8 feed § 7 1
(A) T3 SUR B G
(B) -4 SR &l @IS
(C) faawer &t =g fafeEt i @
(D) YT Gl

In the context of business what does research refer to ?
(A) Finding out new product

(B) Finding out new market

(C) Finding out new methods of distribution

(D) All of the above

5609/(Set : B)/ Il



(3) 5609/(Set : B)

3. /9 ¥ q o fow frer od uidwerr @ olw=niRe aeer & T § ? 1
(A) TS (B) g
(C) ferfehean (D) Swied qef

Which of the following has formalised methods of acquiring training and

experience ?

(A) Management (B) Law
(C) Medical (D) All of the above

4. ‘go¥ URR & TEEE Y TERUEE R W A © 7 1
(a) = &R (B) #A &R
(C) = &R (D) T & P Tl

To which level of management do the 'Managers of first-line' belong ?

(A) Lower Level (B) Middle Level
(C) Top Level (D) None of these

5. TN & GAY GG & 69 A b G © 7 1
A)  FERE (B) €T
(C) FgfereRer, Fesm T FE (D) ® § T+t

To what function of management is coordination associated with ?
(A) Planning (B) Organising

(C) Staffing, directing and controlling (D) All of these

5609/(Set : B)/ I P.T.O.



(4) 5609/(Set : B)

6. TEI A HF ........... 2l 1
(A) TR HH BT Bl T (B) forRametl @1 iR
(C) SR ql (D) S § q HE e
Cooperation means ............ .
(A) Desire to work jointly (B) Determining activities
(C) Both of the above (D) None of the above
7. B A 6 @ & FABCT B AW Fel © 7 1
(A) BH BHEBO (B) &% HHIBLT
(C) TAELTl sl (D) LI HEH
What type of centralization Fayol talk about ?
(A) Little centralization (B) More centralization
(C) Effective centralization (D) No centralization
8. BT B 7 U & fba Ry & § 7 1
(A) S (B) 14
(C) 16 (D) 20

How many principles of management have been given by 'Henry Fayol' ?

(A) S (B) 14
(C) 16 (D) 20
9. FM B T& TIH HIETH T & B & a0 &1 § & foe vy § F2l T B 7 1
(A) TeTED (B) =i
(C) S It (D) SWiad § § g el

Which of the following system of management talks about cheap and efficient
way of doing a job ?

(A) Administrative (B) Scientific
(C) Both of the above (D) None of the above
5609/(Set : B)/ Il



(5) 5609/(Set : B)

10. I Fa AT S 1

(A) €ITE IRER

(B) oTfde aRac

(C) AR TR

(D) oiEfE aRad

Scientific management brings :

(A) Social change

(B) Economic change

(C) Mental change

(D) Industrial change

11. M & ... FH AR B 1
(A) TG H
(B) €EAl & Ifed IwNT A
(C) Sl FAREane |
(D) &= ¥
Planning results in decreasing ........... .
(A) Coordination
(B) Proper use of resources
(C) Future uncertainties

(D) Control
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13.

14.

(6) 5609/(Set :

Fret & & %I aolc &l Qv 787 & ?

(A) € §H U&7 AT Bl

(B) Fic MANSH & U6 oA &l

(C) Toe ® Ty RS Ty =T & B

(D) le I2T T e &l

Which of the following is not the feature of Budget ?
(A) Budget creates illusion.

(B) Budget is an element of planning.

(C) Budget relates to planning and control.

(D) Budgets are objective oriented.

=1 & @ F-a1 FEe & T 78 B 7

(a) (B) HIHH

(C) T (D)  fgferenteT
Which of the following is not an element of planning ?
(A) Rules (B) Programme
(C) Object (D) Staffing
Frrs T gk B

(A)  HER® B) =R

(C) hiETH (D) e
Planning is a process :

(A) Periodic (B) Continuous
(C) Casual (D) Annual

5609/(Set : B)/ Il
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15. a9 .......... frerer 2 & 1
() fag (B) M
(C) oM (D) IR § & 3 el
Rules are .............. details.
(A) Special (B) General
(C) Uncommon (D) None of the above
16. fafr= ... et &1 Frie 8 B 1
(A) = (B) AT
(C) URER oTfa (D) ST H § HF T
Planning of different department s .......... .
(A) Independent (B) Individual
(C) Mutually dependent (D) None of the above
17. T& & 75 Gadl $ A G § 9 B b S Bl S o 7 1
() fEe (B) TR@EH
(C) e (D) TqET

Under what function of management the relationship between different posts

(positions) is explained ?
(A) Planning (B) Communication

(C) Organization (D) Swupervision
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18.

19.

20.

21.

HeT & ATl Hel el & °

(A) FEdS Geren | (B)
(C) ST I+l A (D)
Where lies the need of organization ?

(A) In business organization (B)
(C) In both of the above (D)
.......... He a1t ReR B B

(4)  efERE (B)
(C) SUAHT &t (D)
........... is more stable organization.

(A) Formal (B)
(C) Both of the above (D)

e T & fhae ST oreyg & ?

5600/(Set :

R-agaies el J
SRFT § 9 HE &

In non-business organization

None of the above

AT
ST § & HE TE

Informal

None of the above

il
iz g der &

Three

No definite number

SRR
T | HI3 T

Authority

(A [ (B)
(€) =X (D)
How many standardized forms of organization structure are there ?
(A) Two (B)
(C) Four (D)
YRS T8 ol [ Fed § 7

(A) STERE (B)
(©) et (D)
What is the key to managerial posts ?

(A) Responsibility (B)
(C) Accountability (D)

5609/(Set : B)/ Il
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22. WYY & 6T &9 B Hoed o 7 1
(A)  fafrdmeer (B) HEHTT
(C) fawsiemtr (D) <M favee
Extended form of delegation of authority is called :
(A) Specialization (B) Centralization
(C) Decentralization (D) Division of labour
23. [FGFRIHTOT Jaeg SR T ... T B 1
(A) muH (B) fadi
© T (D) =g
Staffing is the ........... stage of management process.
(A) First (B) Second
(C) Third (D) Fourth
24. 9 R ... q R Bl B 1
(A) &g (B) el
(C) eIl # Am (D) I%E& A B AT
Recruitment process starts with ........... .
(A) Strike (B) Lock out
(C) Demand of employees (D) Invitation to interested people
25. 3 9 & & ufE § 7 1
(A) TR (B) RIS
(€) TEHD (D) TOTHS
What type of process selection is ?
(A) Positive (B) Negative
(C) Qualitative (D) Quantitative
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26. ‘URET = A ... % |Y ST S B 1
(A) s B) et
(C) R (D) et g s
The word 'Training' is associated with ............... .
(A) Managers (B) Workers
(C) Supervisors (D) Swupervisors & Workers
27. [ESF ey BRI A . T B 1
(A)  HedTl (B) 80
(C) drEw (D) B
Direction is the .......... stage of management process.
(A) First (B) Second
(C) Third (D) Fourth
28. THAET H qdqEh g Al b AH ... g B B 1
(A) T H (B) eilish
(C) H3-|ET &l (D) & & TN
In supervision there is a ............. relationship between the supervisor and the
subordinates.
(A) Distant (B) Close
(C) Face to face (D) Almost nothing (Nil)

5609/(Set : B)/ Il
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29. IRERET  ‘FHET omErE ¥ § Fr A ® ? 1
(A) B) I
(C) e (D) AR

What out of the following happens in case of 'employees turnover' with the help

of motivation ?

(A) Reduction (B) Increase
(C) Stability (D) Instability

30. SIRERET & ghe H ... e 787 2 1
(A) & (B) fciishan
(C) TE (D) ATl
.......... is not included in motivation process.
(A) Needs (B) Feedback
(C) Tension (D) Action

31. M= & @ Aqa I FAwar aF-d © ? 1
(A)  STEHRET ST (B) R fadivand
(C) & (D) GeEfeeT

Which of the following is the characteristic of leadership ?
(A) Influencing process (B) Physical features

(C) Knowledge (D) Integrity

5609/(Set : B)/ I P.T.O.
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32. ‘AN &l HH WasEed H T H § H-d e e v 1
(A) 9T GEe
(B) &
(C) WIS
(D) @RI

'Lack of attention' — what type of communication barrier is it ?
(A) Semantic

(B) Emotional

(C) Organizational

(D) Personal

33. T% e & FE=T ST FE D 1
A) U® @
(B) STl 3@

(C) o & O U8 <@

(D) ST H | HiE TE

Control function of an organization is :

(A) Forward looking

(B) Backward looking

(C) Forward as well as backward looking
(D) None of the above

5609/(Set : B)/ Il
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(C) awgelt

(D) Sserehi

Controlling is related to ........... .
(A) Results

(B) Individuals

(C) Things

(D) Managers

35. T & def # -6 Tt @ass B 7 1
(A) T ST ol
(B) YalfeR 3isr ot
(€ T T
(D) & & P Tl
What capital is better with reference to control ?
(A) Equity share capital
(B) Preference share capital
(C) Debt capital
(D) None of these

5609/(Set : B)/ I P.T.O.
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36. FEM N Ff HAE@ETF el © 7 1
(A) 9H BT B & T
(B) 9ed HF HH & foQ
(C) 2 =t B PN B [
(D) AL T B % T
Why is working capital important ?
(A) To buy land
(B) To buy building
(C) To make payment for routine expenses

(D) To buy machine

37. a%g FEir & fER o & ... Bra o & ST B 1

With the onset of the thought of producing a thing the process of ......... starts.
(A) Buying

(B) Selling

(C) Marketing

(D) Producing

5609/(Set : B)/ Il
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38. s & /T .ooveeenn. % BT STATSH 2 1

(C) S &l

(D) eiifeor

............... is compulsory for advertisements.
(A) Expenditure

(B) Effort

(C) Both of the above

(D) Television

39, .. ¥ deel i gid qHEE A B 1
(A)  fomo
(B) eI fosha
(C) fospa Tals
(D) HER

............ removes doubts immediately.
(A) Advertisement

(B) Personal selling

(C) Sales promotion

(D) Publicity

5609/(Set : B)/ I P.T.O.



40. /=1 & 9 foppg Hass H9-T 8 7

(A) 8
(B) ek
(C) TeuE HIAN
(D) SUeT |l

Which of the following is a sales promotion activity ?

(A)
(B)
(C)

(D)

Rebate

Discount

Product combination

All of the above

5609/(Set : B)/ Il
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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
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Total questions in question paper of Part-I are 14 and of Part-II are 40.

o FUF FT B A 5 G B 5 J9T-97 § R T8 4 T F97 14 &)

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 14 questions.
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(2) 5609/(Set : C)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hH T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & g7 FRa &
All questions are compulsory.
(i) HEOF T B OfF 3G% TET @ T 8
Marks of each question are indicated against it.

(iii) o7 F@ 1 & 10 7% Iy FTIT F97 81 JA% F97 2 S % &

Question Nos. 1 to 10 are Very Short Answer Type Questions. Each question
carries 2 marks.
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(3) 5609/(Set : C)
(iv) 597 @& 11 OF 12 T Fa09 597 &1 99% J97 4 37 & &1

Question Nos. 11 and 12 are Short Answer Type Questions. Each question
carries 4 marks.

(v) o7 GE 13 TG 14 &9 Fa0T F97 & 9% F97 6 STH F & T §7H ARE g
FyTH &1

Question Nos. 13 and 14 are Long Answer Type Questions. Each question
carries 6 marks. Internal choice is available in these questions.

[ @y IO 999 ]
[ Very Short Answer Type Questions ]

1. “gdfg o Y0 217 3D T F F 0F 0D 2
"Management as a profession." Give any one argument in its favour.

2. ydY % %3 & A H O HiT 2
Explain any two functions of Management.

3. ‘s’ & Fdl @ o<l ®l HaY F Jay 2
Briefly state any two elements of 'Directing'.

4. HARLROT % HI3 & Hew™ AR 2
State any two importance of Motivation.

5. feEmr i FE & dm aEmEy 2
Discuss any two limitations of Control.

6. ‘T T TEAE HE 817 THERY 2
"Controlling is a pervasive function." Explain.

7. Qe WEo & Bl @ adl b | faerer R 2
Explain in brief any two elements of Marketing Mix.

8. fauue qur fosp § 13 & =X fafw 2
Write any two differences between Marketing and Selling.

9. ‘Mas gaet fofy’ W s wfgr fewel fafw 2

Write a short note on 'Investment Decision'.
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10.

11.

12.

13.

14.

(4) 5609/(Set
foriig a9 @ it 2 °

What is meant by Financial Planning ?

[ @Y ST 997 ]

[ Short Answer Type Questions ]

e @ ufthar & fAEl gre T=eN @ aui it

Explain any four steps in planning process.

AR & Bl e awdl H G o i)

Explain in brief any four elements of Delegation.

[ €Y ST 99 ]

[ Long Answer Type Questions ]

BT WA & el &Y RISl avie i
Explain any four principles of Henry Fayol.

YqT
OR

T & STl B Hewd 989 § g9EEl

Explain briefly the importance of Management Principles.

Wil & fhel & 9T Eidl d ey H e i)

Explain in brief any six external sources of Recruitment.

3TeE
OR

HHR T UBRAT & bl & IR & aui i

Explain any six steps involved in the process of selection of Employees.

5609/(Set : C)/ |
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o FUT AT F T [ I % FG JoT-97 § FRT 7T 16 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
T § g 4 @ w@hwre Tl A awam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 IErt &

All questions are compulsory.
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(i) 797 F9%F 1 @ 40 T%F JEGTT Jo7 81 F9F FoT 1 GF FH 8 FE I G
gee-giaar 4l

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

1. Ye=g 7 gHiREd e 8 ? 1

(A) TSFIR 316X J&M HE

(B) T & IIC TG

(C) TETEAT &I HAfHTH ITT

(D) I 9X g1 %3

Management ensures :

(A) Providing employment opportunities
(B) Maintaining profit

(C) Maximum utilization of resources

(D) Reducing the cost

2. U9 T 1
(A) T FRAT (B) UH fshAm
(C) TH I (D) % #H

Management is :
(A) An activity (B) A process

(C) A tradition (D) An illusion
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3. 5 39 ¥ yerg &1 AX & w9 F R e S g@w § 7 1
(A) AR
(B) STA
(C) ¥Ra

(D) AR T S

Name the country in which Management is accepted as profession ?
(A) America

(B) Japan

(C) India

(D) America & Japan

4. ‘HB HT Y Ted T GG % 9 w1 | FRAr o 7 1
(A) FE=m
(B) &=
(C) €A
(D) e

'Thinking before doing' under which function of management is this performed ?
(A) Controlling

(B) Directing

(C) Organizing

(D) Planning

5609/(Set : C)/ Il P.T.O.
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5. “O9ag Y & Dis T HE ol 2 gk g8 of T HE 1 i 9 31 - T PO
g gast & et T 7 7 1

(A) THET YS9 H AR 2

(B) TH<Y @a: TG el =il

(C) < T FR=R A & ardil 9ihar ol
(D) & & P T

"Coordination is not a separate function of management but it happens to be

the final truth of all functions." In what context this observation has been

made ?

(A) Coordination is the essence of management.

(B) Coordination is not established automatically.
(C) Coordination is a continuously moving process.

(D) None of these

6. I WM T GHAT ... 2| 1
() faH
(B) gaigarE
€) T
(D) Suer @l
The words 'Cooperation' and 'Coordination' are .......... .
(A) Opposite
(B) Synonym

(C) Complementary
(D) All of the above
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7. T A T UG A DH-A1 Er s ? 1
(A) SR H THaT & S
(B) oAf¥han IR H Har
(C) Tieamedr & ©M W oM & WM &1 e
(D) 3™ & F3 Tl

What principle of management has been given by Henry Fayol ?

(A) Principle of unity of command
(B) Principle of optimum production
(C) Principle of using science instead of rule of thumb

(D) None of these

8. WY % fu=Td a1 @ o © ¢ 1
(A) gEids a7 |
(B) IR-E|iy® & 4
(C) (A) @ (B) = §
(D) fpdll § i
Where are the principles of management applicable ?
(A) In the field of business
(B) In the non-business field
(C) In both (A) & (B)
(D) None of these

9. ISIH Yo & ARFIA M= § & H-61 AT 7a7 [hal Sl & 7 1
(A) 7T ST (B) M4 I
(C) T HT AEgIq (D) gHIA I
Which study is not done under scientific management ?
(A) Motion study (B) Profit study
(C) Time study (D) Fatigue study
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10. -8 Jo+ e faRrdwer & Ik 7o JeH & § 7 1
INBEEIRER R
(B) TSI T
(C) SUAFT &L

(D) ITAH H & FF T

Which system of management gives due importance to 'Specialization' ?
(A) Scientific management

(B) Administrative management

(C) Both of the above

(D) None of the above

11. RS ... % gia § TERE ol 1
(A) I
(B) @I
(C) RIS
(D) & T
Planning is helpful in increasing ............. :
(A) Cost
(B) Loss

(C) Efficiency

(D) None
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12. &HH-H g9 i Qv 72878 ? 1
(a) Frm ged 8
(B) & & IwiE qUSg Bl §
(C) % # g+ Usw DAar 2
(D) W T TR H AR BNl &
Which one is not the characteristics of rules ?
(A) Rules are rigid
(B) Violation of rules is punishable
(C) Following of rule is voluntary

(D) Rule is a sort of order

13. FESE ... &l B 1
(4) d (B) A
(C) 3¢ (D) TUUH H q HiE T
Planning is ........ .
(A) Flexible (B) Stable
(C) Rigid (D) None of the above
14. [ GG B .o F B 1
(A) et (B) &
(C) dm (D) e
Planning is the ......... function of management.
(A) First (B) Second
(C) Third (D) Fourth
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15. PRI H AR E coovennnn. |
(A) G (B) I=
(C) argAN (D) fdem
.......... is the essence of planning.
(A) Organising (B) Controlling
(C) Forecasting (D) Directing
16, .coooenn. el T BRa B QU H # faega e &l B
(A)  FEfR (B) 9T
(C) e (D) wshy

............ gives a complete detail of doing a particular activity.
A) Procedure B) Budget
( g

(C) Programme (D) Method

17. HH-91 S Srdl e id f6ar St 8 ?
(A) Sl (B) SMIw=R®
(©) (&) T (B) (D) @ T
Which organization structure is consciously or deliberately established ?
(A) Formal (B) Informal

(C) Both (A) & (B) (D) None
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18. /=1 & § HH-91 e T 99 % Tl & 7 1
() ST B) Refema
(C) SEd al (D) SMIw=RE

Which of the following organization lasts longer ?

(A) Formal (B) Divisional
(C) Both of the above (D) Informal
19. &= & § M-8 @A @ TH 787 & ? 1
(A) TH AT (B) @@ e
(C) "= (D) 9s¢ & Th ST

Which one of the following is not a nature of organization ?

(A) One person (B) Work division
(C) Co-ordination (D) A part of management
20. TF I=d SAEN & TN STl i He FweaAnd © 1
(A) FEET rAE (B) @S M=o
(C) T F TR (D) WUI+E Ear

Number of sub-ordinates under a superior is called :
(A) Office environment (B) Strict control

(C) Span of management (D) Scalar chain
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21.

22.

23. MRS 1 Go By I 9§ & ?

24.

AR Hd I oKl § 7

(A) IAEEE A &

(C) (A)T=m (B) &+ &

How is accountability created ?
(A) By assigning responsibility
(C) Both (A) & (B)

fr=1 & & fepeenr & e © °

(A) TS
(C) TaB=smTT

Which of the following has a wider scope ?

(A) Management

(C) Decentralization

(A) GRS
(C) TN

(B)

(D)

(B)

(D)

(B)
(D)

(B)
(D)

(B)
(D)

5600/(Set

R Aiew @
frelt @ =i

By assigning authority

None of these

HRIHIT
ARTYOT

Centralization

Delegation

RERIRED
FfRTTT

With what responsibility is staffing related to ?

(A) Social

(C) Government

T T oo ]

(A) HHRIHD

(C) T

Recruitment is a ............ process.

(A) Positive
(C) Qualitative

5609/(Set : C)/ Il
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(B)
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(B)
(D)

Political

Individual

Negative
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25. T hAT 1 YUT TR HiN-91 § 7 1
(A) TET TN (B) S S&E
(C) wmufyes St (D) =g+ fol

What is the first step in the process of selection ?

(A) Selection tests (B) Job offer
(C) Preliminary screening (D) Selection decision

26. ......... P q R R § ot § 1
(A) & A=A (B) YT Yol
(©) (A) T (B) A (D) ¥ & B T

.............. is included in off-the-job-training.

(A) Case study (B) Lecture method
(C) Both (A) & (B) (D) None of these
27. e e & snfiret 7 21 1
() (B) I
(C) EasrTR (D)  STREIRET
.......... is not included in Directing.
(A) Planning (B) Leadership
(C) Communication (D) Motivation

5609/(Set : C)/ Il P.T.O.
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29.

30.

(12) 5609/(Set

e 1 | | Far gied &< 8 ?
(A)  gEE H 9w GHRET He

(B) o= & e
(C) I I
(D) RS e

What out of the following does supervision ensure ?
(A) Ensures issuing instructions

(B) Facilitates control

(C) Both of the above

(D) Industrial conflicts

STERT B faQsar e B @ B
(A)  FHRIHD (B) TTHRIHH
(C) THNIHE T THRIHSD (D) GEAHSD

The characteristic of motivation happens to be .......... .

(A) Positive (B) Negative

(C) Positive and Negative (D) Quantitative
RRE AR H .o EAI SEER IS S

(A) ST (B) M

(C) a= (D) SWH |l
Physiological needs include ........... .

(A) Food (B) House

(C) Cloths (D) All of the above
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31, M H A =B IS [T A4 o 7 1
(A) TS &H (B) SATH{aLATd
(C) feorfaemen (D) 39 q+fi

Which of the following is the characteristics of a good leader ?

(A) Initiative (B) Self-confidence
(C) Decisiveness (D) All of the above
32. ‘TSl H TG AT HegERd H T § § HiE-G el o 7 1
(A) T HEE (B) HEHT®
(C) T (D) @R

'Wrong interpretation of message' what type of communication barrier is it ?

(A) Semantic (B) Emotional
(C) Organizational (D) Personal
33. RS 5€T B ... FE B 1

(A) muH (B) fadi=

(C) T (D) ffem

Controlling is the ........... function of management.

(A) First (B) Second

(C) Third (D) Last

5609/(Set : C)/ Il P.T.O.
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34. =T % TH fRE TER @ B 7 1
(A) TRRIHD T
(B) TIIHS 8]
(C) S &l
(D) ST § | HiE TE
What type of nature the control has ?
(A) Positive approach
(B) Negative approach
(C) Both of the above

(D) None of the above

35. TS & HM-H1 T& Fel Sl & 7 1
(A) HEAHH TEq
(B) ToHF Teq
(C) (A) T (B) &
(D) & q PI§ T
What aspect the capitalization is called ?
(A) Quantitative
(B) Qualitative
(C) Both (A) & (B)
(D) None of these
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36. TSI H SEN T TS0 B STEIHRA B . G 1
() e B) 9
(C) A (D) <&d BH

Use of machines makes the use of fixed capital .......... .

(A) More (B) Nil
(C) Less (D) Very little
37. UEH TR & .ooovnne B Bl 1
(A4) =T (B) FrX
(C) = (D) fahan
Customer is the ............... of the market.
(A) King (B) Servant
(C) Sympathiser (D) Seller
38. ... EEIEIEI R I 1
(A) @i ug (B) H el
(C)  Srerehel (D) wiqgfe 1 319
................ is an advantage of advertisement.
(A) Better reach (B) Less effective
(C) Rigidity (D) Lack of feedback
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39. = § @ Susiadel & fdvs gae fhes oidid & ST g ® ?

(A) X (B) fe=ma

(C) fempa Taw (D) =R e

Which of the following can offer expert opinion to the consumers ?

(A) Publicity (B) Advertisement

(C) Sales promotion (D) Personal selling
40. fFT HasT ... F GEl IH F TEEE B

() fosme (B) =fFa fsra

(C) IR A (D) 5@

Sales promotion is helpful in making ............... effective.

(A) Advertisement (B) Personal selling

(C) Both of the above (D) Publicity
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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 14 and of Part-II are 40.

o FUF FT B A 5 G B 5 J9T-97 § R T8 4 T F97 14 &)

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 14 questions.
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(2) 5609/(Set : D)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qrar w&hH T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & g7 FRa &
All questions are compulsory.
(i) HEOF T B OfF 3G% TET @ T 8
Marks of each question are indicated against it.

(iii) o7 F@ 1 & 10 7% Iy FTIT F97 81 JA% F97 2 S % &

Question Nos. 1 to 10 are Very Short Answer Type Questions. Each question
carries 2 marks.
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(3) 5609/(Set : D)
(iv) 597 @& 11 OF 12 T Fa09 597 &1 99% J97 4 37 & &1

Question Nos. 11 and 12 are Short Answer Type Questions. Each question
carries 4 marks.

(v) o7 GE 13 TG 14 &9 Fa0T F97 & 9% F97 6 STH F & T §7H ARE g
FyTH &1

Question Nos. 13 and 14 are Long Answer Type Questions. Each question
carries 6 marks. Internal choice is available in these questions.

[ @y IO 999 ]
[ Very Short Answer Type Questions ]

1. fuoe qen foska & i3 & o= i 2
Write any two differences between Marketing and Selling.

2. ‘Mag gEd Mo @@ o | fewel i 2
Write a short note on 'Investment Decision'.

3. focia Frle @ &/ ot & 7 2
What is meant by Financial Planning ?

4. ‘gdg oF YA B1” TS T F He 0F 0D A 2
"Management as a profession." Give any one argument in its favour.

5. wdg & HI3 & FA B IO i 2
Explain any two functions of Management.

6. ‘FES & el & o<l ®l HEU § TaEy 2
Briefly state any two elements of 'Directing'.

7. ARLROT % HI3 & Hew™ TR 2
State any two importance of Motivation.

8. e 9l FE & €im wEmEy 2
Discuss any two limitations of Control.

9. ‘PR UF TIAE FE 17 THERY 2

"Controlling is a pervasive function." Explain.

5609/(Set : D)/ | P.T.O.



10.

11.

12.

13.

14.

(4) 5609/(Set :

fquer fyeror & fheel @ ol a1 G faEer i

Explain in brief any two elements of Marketing Mix.

[ @Y ST 997 ]

[ Short Answer Type Questions ]

AR & Bl e awdl H GRrg o i)

Explain in brief any four elements of Delegation.

e @ ufthar & fFEl gre T=eN @ aui it

Explain any four steps in planning process.

[ € ST 99 ]

[ Long Answer Type Questions ]

FHAR T Ul & fbel & TN & o Pty

Explain any six steps involved in the process of selection of Employees.

YqT
OR

Wit @ el & ST Wil B §EY H e i

Explain in brief any six external sources of Recruitment.

TS & ST # e 989 § 99EmEy)

Explain briefly the importance of Management Principles.

3TeE
OR

BT A & el &7v ATl i o shiforg
Explain any four principles of Henry Fayol.

5609/(Set : D)/ |
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o PV AT BT FF G % FT TG § JRT §T 16 T J97 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
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o ghereff o1y U To FIT-UA T T @)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ Y@ 98 GrRET #Y o [ geT-9A {7 7 @& 8, qhEr & I 59
G 4 ig A arar @w e A aEm

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @4 geT et &

All questions are compulsory.
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(i) 797 F9%F 1 @ 40 T%F JEGTT Jo7 81 F9F FoT 1 GF FH 8 FE I G
gee-giaar 4l

Questions from 1 to 40 are objective type questions. Each question carries
1 mark. Write correct answer in your answer-book.

1. W€ 8 : 1
(A) TH T (B) TH 9H
(C) T gk (D) T foa
Management is :
(A) A Tradition (B) An Illusion
(C) A Process (D) An Activity

2. U% g% I3 Bl d U BT A6l © 7 1
(A) ST @ (B) I &
(C) T T SHmEgerar | (D) @& e
How does a Manager want to achieve his objectives ?
(A) Effectively (B) Efficiently
(C) Effectively & Efficiently (D) None

3. ‘g Ufed & ST R TeEEHE ' W A © ° 1

(A) F=F T (B) A &
(€) = &R (D) foreEll oX @
To which level of management do the managers of first-line belong ?
(A) Top Level (B) Middle Level
(C) Lower Level (D) None of these

5609/(Set : D)/ 1l
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4. ‘FB HE § A T 6T & 9 A F A o B 7 1
INIRELISE (B) €Ted
(C) TR (D) R

'Thinking before doing' under which function of management is this
performed ?

(A) Planning (B) Organising
(C) Directing (D) Controlling
5. 9 WA U GHAT THGEAY B ..o gl 1
(A) T
(B) T
(C) fE
(D) ¥ & P T

The word 'Cooperation' and 'Coordination' each other are .............. .
(A) Synonym

(B) Complementary

(C) Opposite

(D) None of these

6. TUY H HaY YT & G B & WY © 7 1
(A) e (B) e
(C) FgferTehter (D) 9 & @I
To what function of management is coordination associated with ?
(A) Planning (B) Organising
(C) Staffing (D) All of these
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7. B AN A ey % fhen R sa € 7
(A) 10 B) 12
(C) 14 (D) 16
How many principles of Management have been given by 'Henry Fayol' ?
(A) 10 B) 12

(C) 14 (D) 16

8. 9 & § FH-91 3 BAId & JEg H = 78 2 7

(A) FE feE
(B) fadrerotes woTgdl
(C) UM =
(D) @&

Which one is not the Henry Fayol's principle of management ?
(A) Division of work

(B) Differential wages

(C) Scalar chain

(D) Equity

9. I 7 fhEsl Y F # a1 el & 7

(A) AW (B) HH wd AR

() fafemrt (D) 3 g

What did Taylor want to standardize ?

(A) Material (B) Machine and Tools
(C) Methods (D) All of these
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10. 3% See AT S 1
(A)  HHIS GREd
(B) e URecH
(C) HHYeh TRee
(D) olEnfes aRecs
Scientific management brings :
(A) Social change
(B) Economic change
(C) Mental change

(D) Industrial change

11, PR e & B 1
(A)  dr (B)
© T (D) g T
Planning is ............. .
(A) Flexible (B) Stable
(€) Rigid (D) None
12. FRSH & .o FHl AN B 1
(A) aF=F (B) e & e SwArT §
(C) wmEt TfYadarett (D) =T
Planning results in decreasing .............. .
(A) Coordination (B) Proper use of resources
(C) Future uncertainties (D) Control
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13.

14.

15.

16.

(6) 5609/(Set :

fr=1 & @ o7 5 g @ HifeEt @ fawia #@ § 7

(A) & (B) ™

(©) ari (D) g T

Which out of following policies will you recommend ?
(A) Strict (B) Lenient
(C) Both (D) None

e ufchar @l %9 STRET fohar o ek © ?

(a) g R & (B) ofa Refey #

(C) SWie &1 | (D) el Rerfer & &
When can the planning process be ignored ?

(A) In ordinary situation (B) In case of emergency
(C) In Both of the above (D) Not any situation

faT e i e R atsgaa s ?

(A) T (B) I

(C) BRI (D) Frm
What out of the following is the focus of planning ?

(A) Budget (B) Objectives
(C) Programme (D) Rules
ToIe &l faQwa 78 ®

(A) T9€ 99 U&7 AT Bl
(B) Fie MANSH & U6 od &l
(C) 9 & oy fae Td e & R

(D) T IR TH B ol

5609/(Set : D)/ 1l
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It is not the feature of budget :

(A) Budget creates illusion
(B) Budget is an element of planning
(C) Budget relates to planning & control

(D) Budgets are object oriented

17. @A Qi@ J Fr=1 § & @ foran o B 7 1
(A) FT T A &
(B) T &= AT ?
(C) T N T
(D) T 1 & AR 1§ SUEd
Which of the following is written in the organisation manual ?
(A) Goods purchased
(B) Goods sold
(C) Meeting of organisation

(D) Authority and responsibility of different posts

18. TS & Heg Geel Bl A TS89 B hg B B TG B A & ° 1
(A)  FEeE (B) &
(C) fese (D) PR

Under what function of management the relationship between different posts
(positions) is explained ?

(A) Planning (B) Organising

(C) Directing (D) Controlling
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19. /=1 & § Nu=ilRe Ged & o HH-9 8 ?

Which of the following are parts of formal organisation ?
(A) Functional organisation

(B) Line organisation

(C) Line & Staff organisation

(D) All of the above

20. FHEicAh G B TAT .............. X W A S B
(A) = (B) A
(C) F (D) @
Functional organisation is used at .............. level.
(A) Top Level (B) Middle Level
(C) Lower Level (D) Al

21. SRR AT H YR FT & ?

(A)  BaIHIT
(B) faensienor
(C) (A) T (B) A
(D) =¥ fqHH

5609/(Set : D)/ 1l
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What is the basis of delegation of authority ?

(A) Centralization
(B) Decentralization
(C) Both (A) and (B)

(D) Division of Labour

22. AN & To@ H gha FA Al BhAT FEART © 1
(A)  HEIBTT
(B) YT
(C) feehwsiientoT
(D) w&am

Every thing that goes to increase the importance of subordinates is called :
(A) Centralization

(B) Delegation of authority

(C) Decentralization

(D) Cooperation

23. FHHAME H @67 § RFET HEW B Fad © 1
(A) i
(B) HHSIHTOT
(C) U At

(D) & T I
Introducing employees to the organisation is called :
(A) Orientation (B) Socialisation

(C) Both of the above (D) Placement
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24, &= § § FYRREOT & a9 -1 & 7 1
(A) (B) =&
(C)  mfRreor (D) SwEd q+ft
Which of the following is the element of staffing ?
(A) Recruitment (B) Selection
(C) Training (D) All of the above
25. T & q@ W § M @ 1
(A) fa=me
(B) MR HrAicid
(C) (A) T (B) 3T
(D) FH § I T

External source of recruitment is included :
(A) Advertisement

(B) Employment Exchange

(C) Both (A) & (B)

(D) None of these

26. AT FFET H ... I & S 1
(A) St B TH (B) SuETE
(C) D) @h
Contract of employment contains .............. information.
(A) Job Title (B) Responsibilities
(C) Allowances (D) Al
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27. MR & . st @ B 1
() F (B) g
(C) HEmEd (D)  STREROT
.............. is not included in directing.
(A) Planning (B) Leadership
(C) Communication (D) Motivation
28. = & @ 3N 78 gHREd &1 & % M aifed wid & = W@ 8 oFeEr T 7 1
(A) FrEeE (B) A
(C) T (D) T

Which of the following ensures that the work is progressing at the desired
speed or not ?

(A) Planning (B) Organising
(C) Communication (D) Swupervision
29. Aifadh IO H I B 1
(A) B) W
(C) M T~ (D) @1 gL
Example of monetary motivation :
(A) Bonus (B) Status
(C) Job Enrichment (D) Job Security
30. UEFH + A AFAA = oo | 1
(A) &I (B) T
(C) dhadr (D) ST
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Manager + Leadership ability = .............. .

(A) Loss (B) Nothing (Zero)
(C) Success (D) Failure
31. SFTHWA SR ... Hl IEET B
() wHe Afy
(B) UMY
(C) SUAFT &L
(D) =Bhd

.............. is an example of grapevine network.
(A) Single standard

(B) Gossip chain

(C) Both of the above

(D) Circular

32. YW B AT AR § F1 S § ?

(A) Hfdees (B) faw

(©) F (D) Fréw

What is included in upward communication ?

(A) Reports (B) Rules

(C) Information (D) Instructions

33. .o, JIY Jed @ e B
() fe (B) T
(C) fp® q =Bl (D) =™
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......... standard is associated with production.

(A) Quality
(B) Quantity
(C) Quality and Quantity
(D) Labour
34. CPM H&aER & 0 &0 ffw) 1

Write full form of the abbreviation CPM.

35. wrll gwfdl § fat= dedt Mol & L Fed ol 1
(A) FEA Toi F T
(B) ol wifen
(C) faxiegaean 1 Mol
(D) ¥ & g T

Fixed assets investment decision is called .............. .

(A)
(B)
(C)

(D)

5609/(Set :

Management of working capital
Capital Budgeting
Financing Decision

None of these
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36. =1 & @ @ =g geufdl § enfe 77 fan e @ ° 1
(A) & IR
(B) &g
(C) IR
(D) T fafwEeT
Which of the following is not included in current assets ?
(A) Cash
(B) Stock
(C) Debtor

(D) Long term investment

37. [UUF Fremem & -6y ... &I B 1
(A) ST e
(B) Yl eI
(C) S &l Jorer

The central point of the marketing point of view is .............. .
(A) Customer's satisfaction

(B) Customer's welfare

(C) Quality of the product

(D) Quantity of product
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38. fasiae &1 @ & : 1
() oI TEd
(B) @Y STt
(C) STeTrerhar

(D) icgiee &1 e

An advantage of advertisement :
(A) Better reach

(B) Less effective

(C) Rigidity

(D) Lack of feedback

39. . T ygia drasiiaar @ 2 1

(B) fe=ma

(C) fespa Hasd

(D) eAfR fasha

.............. makes flexibility available.
(A) Publicity

(B) Advertisement

(C) Sales promotion

(D) Personal selling
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40. ‘SR gfed W fom S wEr e d § e iy B ? 1
(A) fasmaE
(B) @ feasha
(C) faspa Tagls

(D) HER

'Providing finance at zero percent' which of the following adopt this method ?
(A) Advertisement

(B) Personal selling

(C) Sales promotion

(D) Publicity
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